Extra-credit Homework # 1                                                                                 SCI 1300 


Name:_____________________________                                     

Two moons of Saturn, “Janus” and “Epimetheus” are co-orbital: The orbital radii of Janus and Epimetheus differ by only about 50 km, less than the diameter of either. Their orbital velocities are thus very nearly equal and the lower, faster one slowly overtakes the other. As they approach each other, they exchange places, i.e., the lower one is boosted into a higher orbit and the higher one is dropped to a lower orbit. This exchange takes place about once every four years. 

Note that both moons were only discovered in 1980, and 1986, respectively. Therefore it is not known, whether this phenomenon will occur indefinitely, or will cease to occur some time in the future.
	Moon 
	Mean radius of orbit (in 1000 km)
	Period of orbit (in Earth days)

	Janus
	151
	0.69

	Epimetheus
	151
	0.69


Give a plausible explanation for this phenomenon!
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